O HM e SO MANAL LL

v (e peer ok (o 6

MLAT 02 ASSLEMMEIMT:

D Als,-51 - (x%Y)

S ((-¢)t k4D

i

Bl y=Ca9) L+he

C (0,3 =9, S L+ Sh = ~LL £ LYK
AL =Ak

JEa -6y -5

l=1F

AG=
Ab = \Jloo =1(0

* <ok o K= | 1

ATz \r(?- 6 Y2 (=& Y

- w@hﬂ( AA/L.S‘wh

z.loo = (a

}

(X, Y. )z (6,3

\
|
|
|

(s, b2 ) = (Y5 2)

BC= Jo-c-f £ (3- 0

|

Cx ,yd= iy -1

gc=\'§ =2-¢ | ol D =kl
| : -
S ce AR = Ac, The brwnabess | 1% = (CSN—F (4}
- | Tt
lzoc-e/(e)i/,, |
At R = S LY Y
Q,\ Q(-um) : AL = (Sk
\ | [ =20
\\\ 5 Sxabhoo€ kil 20
S L055-3) |
NR( -1 |
L
\
I
D Tdetnad dnasun t
|

0 =steal)

(2,30 =Cm8)

(3,4 )= (s5,-3)

e = LD X K02

LAr





{ "type": "Document", "isBackSide": false }

